polar coordinates in the plane

44

N

T2
,_(\)1749 usu_a\lv rezb6 b\x\'{or;ome curves

r= §(6) 1+ is covemant o allow r<o.

N\ .
= maee o gn or B A are

~ 4wo natural rangks {or e intenval

1 . .
5 o
| 4{ -(-\ne\-u values,

—x:{-cTse—\
U= rsind

+1: X?. \5?'— cleslprism® /0

= r2(ho+ sint)ee o

o e 20 (wsudy)( M

y, [—w<6=rr]:

9=qrchn¥-< +‘\'I’G(§)“) | 9 ar-c\-nn—- € (0)
A— : /“’/-6'1 v»\‘\n -

refuoncea \e
9»-—- arcta ﬂa&x
(3 (0) g)

X=7

_oY=mx

x

- e e e e
Cg=3-> rsnd=3-—y T = 3no= 250

m Tt U o‘ lg l'l . T T T ITE mmeem mm  rm e
u~mx.,_,vm—9. -\w-,é*—, e—qrt\'mm

-.:L_ﬂ'__-?;) _‘-Q-cq -2 r=a [e= 0w ,’“-) R

2.
\_ts one loop

\ 2y Gz)imgt - — @ZM=K > (3areind > r‘=4s|'v7_6
- r—»' @me{—.-/ i Zve® = T -Te®

7 (‘5+\)"+\5 =\

U 1™ q{*, 0(' 8 =02

___inboth cases © = 0.W and &= ¥ Z;}‘
res‘)ec\'welg malkes one lovp °€ l">0 while ‘H‘\e Setond

‘ihe same Pﬂ'('k ? W -

-~ fpr mhegrokm parprses e witk ted -to-deserbe-bourrdmy curves of —regtons— - o -

with =20 and no repeahhq




polar coordinate integraficn examples
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